Battery Backup Kit

2 3Ah V-06 Installatlonlnstructlons R

_Garage Door Openers | - Swing Gate Openers

- 4
BATTERY BACKUP KIT 2.3Ah V-06 - SAP# NO. 62737 BATTERY BACKUP KIT SBC-02 - SAP# NO. MC0090 » l,
ITEM | DESCRIPTION QTY ITEM | DESCRIPTION QTyY
1 | BATTERIES COVER ‘ 1 19 | BATTERY CHARGER BOX ASSEMBLY 1
2. | BATTERIES SUPPORT 1 20 | CHARGERASSY SBC-02 R 1
3 | BATTERY 12V SEC 12-2.2 AGM TYPE 2 ACCESSORY PACK
.4 BATTERY COUPLING WIRE - ESV24 1 21 TIE MOUNT CM-13 (ADHIESIVE) 4
5 | BATTERY HARNESS . 1 22 | CABLETIE 4” GT-100M 4
6 PAN HEAD SCREW W/WASHER M4x8 2 23 BRACKETS GE 44 621 4
7 | CABLE CLAMP ACC-1.5 (3/16") 1 24 | SCREW “P" M3.5 X 13 FOR GW 44 621 4
8 | CHARGER BOARD SBC-02 1 :
9 |sBC-02 CHARGER HARNESS 1 : .
10 | SBY-2 BATTERY HARNESS 1 o g -
PACK #1 (SECTIONAL DOOR GPENERS) _ Sliding Gate Openers
11 | HEX STANDOFF M4 2 BATTERY BACKUP KIT ESV24V2 - SAP# NO. 69767
12 | PAN HEAD SCREW W/WASHER M4x8 4 ITEM | DESCRIPTION Qry
13 | THRUSS SER HD SCREW “S” RoHS M4x8 - 2 . 25 | BATTERY CP1223H 12V 2.3H S 2
14 | TAPTITE SCREW “P” M4 X 8 3 26 | CHARGER ASSY SBC-02 1
15 | PCB SUPPORT 76X27 1 - 27 | BATIERY COUPLING WIRE - ESV24 1
PACK #2 (ROLLER DOOR OPENERS) 28 BATFERY HARNESS 1
16 | TAPTITE SCREW “P” M4x8 4 || .29 . | TAPTITE SCREW“P"M3 X 8 N
AT |- TAPTITE-SCREWHPEMAX] 0 su somsss o= mm | =@ | S i Gt e B
18 | CABLE CLAMP ACC-1.5 (3/16") R

‘Commerical Door Openers

BATTERY BACKUP KIT GDO-12 - SAP# NO. 86408
ITEM | DESCRIPTION QTY
30 - | BATTERY 12PCA1.3 - 12V1.3AH 2
31 | BATTERY COUPLING WIRE - F1 1
32 | BATTERY-HARNESS 1
OPTIONAL PACK 1# (WALL MOUNT) - SAP# NO. 86774
33 | TAPTITE SCREW “P"M3.5 X 8 2
34 | PLASTIC WALL PLUG 2
5 | BATTERY HARNESS EXTENSION 1




